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CERTIFICATE IN POULTRY FARMING (CPF) 

Term-End Examination r--1 
CD 	 June, 2013 
CD 
CD 	OLPI-002 : POULTRY FEEDS AND FEEDING 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions only. All questions carry 

equal marks. 

	

1. 	Define any five of the following : 	 5x2=10 

(a) Antibiotics 

(b) Balanced Ration 

(c) Supplementary Feeding 

(d) Prebiotics 

(e) Ad libitum feeding 

(f) Dry mash 

(g) Grinding 

	

2. 	(a) Define Nutrients. List the essential nutrients 

present in the feed. 	 4x2.5=10 

(b) Explain why water is an essential nutrient 

in the feeding of poultry. 

(c) Name any two common energy sources of 

feed. 

(d) Name any two unconventional animal 

protein sources. 
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3. 	(a) Discuss about the major mineral sources. 
4x2.5=10 

(b) Identify any two mineral deficiency diseases 
in chicks and their causes. 

(c) What are the common sources of 
Vitamin A ? 

(d) Identify any two vitamin deficiency diseases 

in layers and their causes. 

	

4. 	(a) Discuss about pellet form of feed. 	4x2.5=10 
(b) Discuss about the feeding of birds during 

hot weather. 

(c) What are the precautions to be taken while 
fumigating ? 

(d) What are the factors affecting the feed 
quality ? 

	

5. 	Write short notes on any two : 	 5x2=10 
(a) Feed Additives 

(b) Aflatoxins 

(c) Feed Intake and Feed Utilization of layer 
chicken 

	

6. 	Explain the different steps involved in the 10 

processing of poultry feed in a feed mill. 

	

7. 	Write short notes any two : 	 2x5=10 
(a) Feeding management of ducks 

(b) Phase feeding 

(c) Sampling of feed 
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8. 	(a) A feed mixture containing 18% crude 	5 

protein (CP) is to be prepared using maize 
(CP =10%) and sunflower meal (CP = 28%). 
Calculate the amounts (parts) required from 
maize and sunflower meal by Pearson 

square method. 

(b) Calculate the following : 

(i) Feed Conversion Ratio (Feed/dozen 2.5 

eggs) 

ASsumptions : Feed consumed = 3400 g 

No. of eggs produced =17 

(ii) Feed Efficiency 	 2.5 
Assumptions : Feed consumed = 2.0 kg 

Body weight gain =1.4 kg. 
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1. 	f-*-t 45 *1 4 	rol-rfErd --1-f--4 : 	 5x2=10 
• 

(a) Id. (All d4\4-1 

(b) Til-f-o-a.  71-49-  

(c) -T-T-  3477 

(d) fMalq e..1+1 	

(e) 9F0a( -coivR) qfril oritli 

(f) TPT fERT 

(g) fERTII 

2. 	(a) 	Lilacncical 4).1 Lironfsm -1-f-  1 qi 4 aw-ill 
4x2.5=10 

3f9-41-4 Lila 	IA ceil ch'l T& .11i 	 1 

(b) TffEfa-3-T7R 4 ,Ari, 3Tftqrc.  Lilaci-mcci Tt t? 

-4 	d - 1f7 1 

(c) qi 	4 t Rn-e t -114-1H-1 ,i)\3-11 34)--d)' 4) -11 44 f6f4J7 I 

(d) f-* 	-)• 3-Tcrttru7r -Ertat9- 51-1--dt-iiid -r-ffft171 
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3. 	(a) -g-T3 or-1\31c1c-cf TA)t 	4 	4x2.5=10 

(b) F-1,1 dc-cif cril 	614 

-rt-cr4 *1-  y6r41-1 

(c) rcill1-1-1`7't 	' 31-Yd cHi t? 

(d) 4 raaHl 4)1 -1,11-  -# 614 -q-r 

---1f -A7 I 

	

4. 	(a) qt 	7-*-F 	4 ffffam 	4x2.5=10 

(b) TrW 	trii-T4 31-7R t 	 -ftr 

(c) TA-9. 	AI4 qr-o thclqW1 

(d) qvit 	551-rf-a-ff -wT4 	chRch 

5. fWttR .4474 	: 	 5x2=10 

(a) p-  

(b)  

(c) 	f 	ch 	I qi-a 3f-d-4--pr 	--crtrr 

6. 	cI.11 fug 4 	q14 	-5r4-t:ER-Ur 4 4-,-1 	afir5r 	10 

q) 7 I  
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7. 	ft' -crT 	-44 	: 
	 2x5=10 

(a) qffdf 3-11775l 	a 

(b) fqfi*r vra-T-9-4T4 	qt-it 16(-11-11 

(c) cni 

	

8. 	(a) 14qTT (Tft.t. = 10% ) 3R-1 TF7F---0-M7 Tr cl 	5. 

41.t. = 28% ) 	7-47 18%-1-Erf-Tct--d 

(Tilt.) ?ITT qidt FilaTuT -zrR 	r ti fc171* 

fafq 

f-*7 	ITP-4c LiRcbRid --1-r--A7 

(b) 	Fi+-1Fri 	d ml LIR* id 	: 

(i) 31-Tird (qidi/q,id A) 	2.5 

3-1WE1TT1111 : 	aMf 	r qi4 =3400 4,114 

6c-k-11 qd 3ft 	49Lii =17 

(ii) qidi UlTd1 
	 2.5 

araunurr: 	6,41F( qidr= 2.0 

4̀47 -51-11= 1.4 
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